Name of the Trade :

Electronic Mechanic - 2nd Semester - Module 1 : Transistor Amplifier

# |Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|Which coding system for transistor JIS standard Home codes JEDEC standard [PRO-ELECTRON [2U(s33?22 USIR 5HIsel Usld M 8¢ FUUSUY RUo5S  [olH slo RISl @SS [Ul-8ASel RUeSS C 1
type numbering system is followed by standard s1(Sol RreH UNARSseL @S § 612U
American standard? UofUAHL A B?
2|What is the electrode marked ‘X’ in Base Screen Emitter Collector TO-5 gll3e? Us slaAUMAHL 8ASLES A8 slat OER sAs2 C 1
the TO-5 transistor pack diagram? X' 87
les.] x!
3|What is the electrode marked ‘X’ in  [Collector Emitter Screen Base TO-12 glBeR Us SLAUMHL tdldd  [sAs2R UMe? lel AR A 1
the TO-12 transistor pack diagram BASAES X' 9 B?
shown?
o] x
- §
4|What is the current gain of common  [Low High Medium Very high oot 5A52R WRAlglaRell 522 et [y G HeaAH yol % Gl D 1
collector amplifier? 9 ®?
5|What is the type of amplifier Common base Common emitter Common collector |Paraphase AnlglaR dlsaQlloil ysik 9 8?2 $lHol B slHot AMeR $lHol 5ASeR ASS R C 1
configuration? amplifier AnclsiaR
6|What in the current gain of a common |[Unity Infinity Greater than 1 Less than 1 slHot - 0103 AcllslaRell 522 AUl (Yol Bosllacl 1 5cll AR IEERUENE D 1
— base amplifier? 9 &7
7|What is the meaning of first letter Germanium Silicon material used [Antimony material |Indium material 2UBeR sls oleik BC 107 Hi e2lldct [l undll [RAsiel ol Wl Hloll Al [sledan il B 1
indicated in the transistor code material used used used YU weRell Y g 82 duRA B duRA B duRA B duRA B
number BC 107?
8|What is the formula used to calculate [lc= Ig e+ Ie lg= Ig le+ e slHst (Lo AnlslaRell 522 Aot (a)  [Ic= I e+ Ie lg* I le+ e A 1
the current gain (o) of common base ol 3lgld‘€1 sal HI2 UL Aaldl
amplifier? YL g B?
9|What is the name of multi-stage Cascoded amplifier [Cascaded amplifier |Complementry Darlington pair H@-rw Andlglade] o 9 8? SLUSLSS 515 Arclsiar  [sicdlioesl sidatzat 191 B 1
amplifiers? symmetry amplifier |amplifier AnclsiaR ANl ArcllsiarR [ArclsiaR
10|What is the maximum emitter to base |4V 5V 6V 8V 23R BC 14741l NHleR Ay dleer |4V 5V 6V 8V C 1

voltage Vg (max) for the transistor BC
1477

VEB (max) 2 9 87?




11{How the negative feedback is called? |Regenerative Degenerative Current controlled |Voltage controlled [adlElal $lsAls slal seclMl A B2 AogaRela slsals  [(SaaRiea slsds  [s2e s2ld slsas  [cdlRy sl slsals
feedback feedback feedback feedback
12|How the maximum permissible VCE (max) in volts |[Vge (max) in volts Vg (Mmax) in volts [V in volts 2oBRee] sAs2 AH2R As2Uct YAA [VCE (max) in volts [Vge (max) in volts  [Vg (Max) in volts  [Vecin volts
voltage that can be applied across the B 3 HedH WHl{luad dleees 3l a
collector — Emitter junction of a Al U A3 B?
transistor is indicated?
13|Which configuration of transistor Common base Common emitter Common collector {Common drain sAsellas AlseAul 2ildeR slHol B sliot UM slHol 5AS2R $lHot 380l
amplifier is most commonly used in  |configuration configuration configuration amplifier Arcllsiarel caelsdiel Wl ay  |caellsdl alallsd alallsd Andlglar
electronic circuits? configuration Guallol A 8? alellsd
14|Which transistor characteristics gives |Input Output Input output 58 2loMeR clalllsdAl VBE (A3g 1B [sdlalain (S5 RUAS RUAS
the curve plotted against VBE versus |characteristics of  |characteristics of ~ |characteristics of |characteristics of  [$AAd 5d WA &2 2leBreRell Botye |aleBreell 2leBreell Botye |aUeBreell
IB as shown? germanium germanium silicon transistor  [silicon transistor CEIRERIEN ulBeye CEIRERIEN ulBeye
transistor transistor I REREN] I RERIEN]
o
LI
i
SASEEMITIER VOLTAGE  VBE () = §
15|Why transistors made of silicon is Complex design  [Higher thermal Requires Silicon transistor ~ [gledflaeR AMsess2R WHIL wHAaM [¥(ct [Saeet G i RARAL [xl3ct ool RAsle 2ilReRa
preferred over the germanium stability complicated bias  [needs low cut-in-  [$2cll RASAYU 3H collalcltHi Yltlol alsatell WYL 52-8ot-
semiconductor material? arrangement voltage VUAUHL WA B? UARUSAL B dlcesell %32 ®
16(Why NPN type of transistors are NPN has lower NPN has good bias [NPN has higher  [Low operating PNP UsR glohedl U2 NPN YslRell Ao [et ol oAl [AoAlAt WA Aot ay Al ARl clee
preferred over the PNP type switching speed |stability switching speed  |voltage 2lBredal al |2 yltlel BUUH RARDLL BsU B AR ydos (IRl 35U
transistors? uA B? RARcAL ® YAA B
17|Which type of transistors are required [Low power Medium power High power Epitaxial versawatt [H8s15lot / glasyuUl Rl Al UWaR 2l [HEAH WaR 88 UlaR 2lleeR [N
to amplify signals from the transistors transistors transistors transistors cllRell HIZ sl YslRell 2iD3edell 2l cdRaldle e

microphone /transducer?

%32 B?

18

What type of packaging is generally
used to transistors utilized for low

power amplification?

Metal packaging

Plastic packaging

Ceramic packaging

Plastic packaging
with metal
heatsinks

Sl UlelR ABTAFS2UA HI2
2Rl GuADL sRall M2 et 3la
sAL UslRell UHFolell GUoL UA B?

DECIREICH]

wlkes U[wol

RIS uslewal

ned (gefls W
wi®Rs W@l

19

Which type of packaging is used to
transistors utilized for medium power

amplification?

Plastic packaging
with metal
heatsinks

Ceramic packaging

Plastic packaging

Metal packaging

Held UlaR Abw(g5et 1 gilded
HIZ sl YslRell UF(FLe Gullol aul
8?2

Ned [Bells W
wHkRs U@L

RRMSs Ulwal

RS s U(wal

Ned usleol

20|Which methods of coupling used in ~ |RC coupled and  [Transfar coupled Direct and Rc RC and LC 2lBes Arclslar Alseul sudllell  [wRYUL sudd Al |2l sUA staRse ol URYL [URYUL A Al
the transistored amplifier circuit transfar coupled  |amplifier coupled amplifier |coupled amplifier  [5€ Ug(AA cctetattil ucll? 2leU g sUA ArclsiaR suct Arcllsiar  |[sud ArellsiaR
shown?

21|Which type of amplifier in used to IF amplifier RF amplifier Power amplifier ~ [Voltage amplifier [A@S ¥Ulsal AUUAA sal U sAl  [AUSAg Adlgla [Rug ArdlsiaR [waR Andlsiar  [dey AndlsiaR

operate the loud speaker?

YsRell AellstauRell GUoL scllHl
UL B?




22|What is the value of R if the voltage {180 Q 120Q 100Q 12Q RE<] 4 g 8 %l doll URe] cllee 1.2 [180 Q 120Q 100 Q 12Q
across it is 1.2 V and current flowing V8 Aal dAuiell yate 10 mA agl &l
through it is 10mA? 8?
23|What is the voltage gain in a transistor {45 90 180 270 8oy clce 40 my ol wlGeye 45 90 180 270
if the input voltage in 40mv and the ARy 3.6V 8lad Al 2lleBrerell ARy
output voltage in 3.6V? Ayet 9 dlau?
24|What is the frequency of operation of |Video signals High frequency Audio frequency [Intermediate Bodseodl wal sURIEa (L-C) sUdldiall [(Alsul Rttt [ales slsasdl AUSU slsaarll  [8oeulslAe
the amplifier circuit using inductance signals signals frequency signals  |GUalaL s3la Anedlslar wlSes{l RoLetct RoLetct slscla{l Rttt
and capacitance (L-C) coupling? sLHO(Ile{l glsciorll 32l B2
25|What is the input impedence of Very low input Very high input Medium input Uniter sicldteat VR gldedell sotye ol Al Betye  [yol BRI Betye  [HEAH Betye YlaleR
darlington pair transistors? impedance impedance impedance grllso 9 B2 s s grflsu
26|What is the advantage of using bias in |Provides positive  |Never reach Easily sets Gives maximum  [2l0}eR ulseuHl ollatetl GuAlaL wablela slsas Aqhd Yl s ROl Aqud  [HedH slelRalet
transistor circuits? feed back saturation saturated distortion sclloll $LAEL 9 B? AU B uslu otel YARA 52 AU B
27|Which class of amplifier uses fixed Class - A Class - B Class - AB Class — C Anlglaell sal s g0t Class - A Class - B Class - AB Class - C
bias because of its imperent U SLAELA 51RQ sURA AL UR
advantage of transistor will never go % ol8l?
to saturation?
28[How does the values of bias resistors |Q point set slightly |[Quiscent current at [Quiscent current  [Quiscent current  [sCUA-0ll UREA(SLAJAHL 5ASRR 3201l [Q WBoe A2 s2-  [HEA (W UR se-ulls Ul  [s2-2lls AR UR
selected for collector current in class - |below cut-off mid point beyond the cut-off |over the cut-off 5AAA ollA ABR2Aotl Yl 3l AA  [2gell uds (1A B [syoe 522 UPLO YU $2 |$YUoe S22
B amplifiers? point value UAE 52 87
29|Which parameter of passive Capacitance Inductance Capacitive Inductive reactance [Qllal s1Ulotozoll sAL URHIGA 2ol [5U{leot BaS 520 SRR lAseat [os5dla usea
component can be calculated using reactance Gualol s3lal oLl 53 st B2
the formula ? _1 1
2 nfc 2 rfc
30|Which type of amplifier is used to IF Amplifier RF Amplifier Power Amplifier  [Voltage Amplifier [cll@s ¥Ulsa (U2 $Ral HIe sl A g ARclglarR Ry s ArdlsiaR [waR Andlslar  [deey AndlsiaR

operate the loud speaker?

Yslrell Aclslaell GuoL Ul 87

31

What is the advantage of silicon over
germanium for transistor fabrication?

Lower thermal
stability

Higher thermal
stability

Lower operating
voltage

Higher
amplification factor

23R ladSalet Hie ¥Hllan GuR
RASletel sl2€L 9 B?

AR AA RARCAL

sl2R AHA RARCAL

AR AUl
Al

alaAR A3l
SET!




32(Which type of amplifier has the RC coupled LC coupled amplifier | Direct coupled Transformer sl Yslell Arclglaul slsasdl wURAYL sua Al sua slaRse sUC 28R sud
frequency response curve as? amplifier amplifier coupled amplifier |R¥We sl Sl B? ArclsiaR ArclsiaR ArclsiaR ArclsiaR
33[How much is the voltage drop across [0.9V 7.2V 8.14V 8.6V Alseul cdls (e R2 1l dlees iU [0.9V 7.2V 8.14V 8.6V
the load resistor Rz in the circuit? el ©?
:
34|What is the effeciency transformer Less than 20% About 50% More than 60%  [Unity BslAloRll 2lortslHR sUA se A 20% | A1 WLAR 50% 60% | ay Yel
coupled class A amplifier? AnclsiaR 9 8?2
35(What is the purpose of using positive |To produce To produce To produce To produce Alndlstadul Walldla slsasel HsyALLet (SHlsyAatet RAA cottaal [HEwWAs et
feed back in amplifiers? modulation demodulation oscillation multiplexion GuloL sRcllell & g B? olollalall ML olollalall ML He olollaal HI2
36|What will happen when the forward  [Increases the cut - |Barrier width of Junction ruptured |No current flows [ PN %52t dRgall SRS sl [52-8ol-clcey 52l ARlARell  [5alol cfe] Ual |55t GIRL SIS
bias voltage across the PN junction is |in - voltage junction increases  |and short circuited |through the junction|clc2% cltll? AU UR 9 UA? aull 52 B yelougs all 8 e ule Yol ysiell s2
increased excessively? addl o2l
37|Which test is conducted to check the [Quick turn-on-test |B-E forward E-C forward E-C reverse 2U(Breell KlI3ls BlURUatal USIAUCL (sAs 2ol-ulat-22  |B-E SRaS E-C slRas E-C 2lad 922
basic operation of a transistor? resistance test resistance test resistance test HE2 sA Ul sal wWad 82 YRR e YR e R
38|What is the overall base emitter 0.2V 0.3V 0.7V 1.4V sidat WRaA Jcal Hie %33l 0.2V 0.3V 0.7V 1.4V
voltage required to turn the darlington AWRAUA AR A2 AR 9 8?2
pair?
39(What is the status of the transistor in  [Acting on an Acting on an Acting on an open |Acting on a closed |52l gUeaeRell RAA g 82 Anclslar uR AWRA2R UR st [llust U uR ol (A uR
the circuit? amplifier oscillator switch switch sLH 8¢ $q sIH 52 sl

+Vee

Vee Vee

Enazstt




40(Why the complementary - symmetry  [To minimize the  [To get less distortion [To get more To eleminate the |21 12 stiid(Ree3l - AAAs Aot walsal Hie [l slrellat dy clee Agot 2loslHR slal
amplifier is preferred over the other  |gain voltage gain transformer ARAlsia Aol YsiRell Ancllslaedl nadal M nadal M allwal M2
types of amplifier configurations? C*ll&tQﬂSdl UR Ylulol AUClHl a1
87
41|What is the voltage drop across the  [4.5V 6V 9V Zero volt 2R Q1 oll 5AS2R ol AHeR 4.5V 6V Qv oV
collector and emitter of transistor Q1? dR$ dlee QU 9§ B2
:
42|How can you confirm a transistor as  |By circuit testing  |By ohm meter By physical testing [By voltage 2lloheeRal MiHlysc 315 R 5l Al [ulSe ullawgl st [llet Hl2R ullawal [elllds udletgl slrl [dless Hiu blRl
defective? testing measurements At 531 a8 ©1? gl
43|What is the status of the transistor in  |Acting as an Acting as an Acting as an open |Acting as a closed [(s2Hl gleneRell RAlA 9 B2 AndlsliaR d:ls [RORAR s wluot (A 25 [oitd U AR5
the circuit? amplifier oscillator switch switch sl sl sl sl
Vg k! -
® LRVe R
Ra
Vee0
L ;
L]
Between emitter - |Between collector - [Between collector |Between E-B and [l AR 2i(oheul [S1Aaet & sl [AH[2R - dls sAseR - 03 sAseR Wl B2 [E-B ua B-C

44

Where does the depletion region

exists in a bipolar transistor? base electrodes  |base electrodes and emitter B-C electrodes 8? sAsglsUoll A [sAs2snell A |BAsASUll A [8As2sUe{l A
electrodes
45(What causes the drop in gain at high |Voltage divider Decreased Increased Parasitic As RC sud ArdlsiaR (ssacdl dlexr slags:  [sicdlol sulReRetl  [swcellol suRleral  [uRllEls
frequencies of an RC coupled bias arrangement  |reactance of reactance of capacitance and |33l sclell 6l85 glsclollos UR ollaAY dUsRL AAseau Yelsl AAsean aul [FARRAU v
amplifier frequency response curve? coupling capacitor  |coupling capacitor [transistor Aeotoll Yalsl 51 AlA B2 g2l g2l LR
frequency slsclo{loll AeSat

BANDWIDTH

DUE TO
Cgor
Av { g orCe
0.707Av miD[ Y,

HIGH-FREQUENCY

MID-FREQUENGY

I I I I
10 fg10 1000 10000 T5100,000 MHz

Emzzi4

dependence gain

U AR AW B

46

How does the transistor behaves
above the knee voltage and below the
breakdown voltage in the
characteristics curve?

Ie BREAKDOWN
KNEE \
1m [
i
i

|
‘ TV COLLECTOREMITTER VOLTAGE VCetV)

GOLLECTOR CURRENT I (mA)

Veev)

VGE(MAX) OF TRNSISTOR E

Voltage controlled
oscillator

Current controlled
oscillator

Controlled
constant current
source

Controlled
constant voltage
source

2B srsercls sdul 5dl 2la oll-
AR GUR WA AsSIGal el ol
ddd 52 87

adlee (AR
WRAR?

522 [2Ad
AWRAR?

slotdoe 522 AUl
(2imtaL

$loreoe e
Ald s2lcd

47

In which quantity affects the Q point of
a transistor amplifier?

Decreased
temperature

Increased
temperature

Proper biasing
methods

Mismatching
signals

In which quantity affects the Q point of a
transistor amplifier?

AluHet eeLsl

AlUHLel Rl

210 ool
SrAGEN

(ot Rostcl




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 2 : Oscillators

Question OPT A OPTB OPTC OPT D Question OPT A OPTB OPTC OPTD Ans [Level
1|Which type of circuit is used in the Series fed colpitts [SHUNT fed Hartley oscillator |Crystall oscillator [RAURA2HUL sl UslRall Als2all RIR1y %5 slalaa [2le %5 slcuey sledl HRA2R (sect ARAARR B 1

oscillator? oscillator colpitts oscillator Guallol Ul B2 AURAR AWRARR
2|Which type of circuit is used? Hartley oscillator ~ [Colpits oscillator  |Crystal oscillator [R.C phase shift [s2l UslRall (52l GUallol A 8?7  [sledl HRAR? slcfle WRA:R  |[lsed ulRAeR URAL s Qlse | D 1

oscillator AWRAR?
i 1807 g
e B
2 ~
§ i

3|What is the natural shape of a quartz |Cylindrical shape |[Cube shape with |Pentagonal Hexagonal prism [sclled 8l2soll gecl wUsR 9 B? MRS wa [RAMs wa RpAMs RS wa D 1

crystal? with pyramid at pyramid at ends  |prism with with pyramid at VAUl dA0USIR Ml oL USSR [AHl Qozlolat VMl dsUNAA

ends pyramid at ends |ends SR Qou Qo3

4|What is the resonant frequency range |Between 0.1 and [Between 0.1 and [Between 0.5 and [Between 0.5 and [[s:2ctell Re2 ($5clorll R0 9 82 0.1 ¥a 1 MHZo{l [0.1 3l 10 MHZo(l [0.5 Al 25 MHZo(l [0.5 4ol 30 MHZe{l [ D 1

of a crystal? 1MHZ 10 MHZ 25 MHZ 30 MhZ R AR AR AR
5|What is the difference of colpitts Uses split inductor |Uses split Uses crystal Uses SCR sl ARA2ReAl ua sledl Re 8oss2ell  [RWe sURleRall  |[(sect ARA2RA  [RAUYMR B 1

oscillator compare to hartley capacitor oscillator combination WRARA deoitml dstady B2 Gualal 52 ® Guaal 52 B Gualal 52 & slio{laA2letall

oscillator? GuAldL 52 &
6|What is the name of capacitors C1 High frequency Saw-tooth Commutating Inter-electrode  [U(s2Hl 5URRR Al 1wl Al 2 of sl |6l slsalerl A-guU suRle? sLRjAZlol sUle [Be2-BASRS C 2

and C2 in the circuit? capacitors capacitors capacitors capacitors 9 &7 3R 3URER?

QUPUT % ' ’ Vﬁur
7 35

7|Which circuit is determined by the Oscillator Amplifier Multiplexed Demodulator AAL 205 Uls2oll slsaRll gl sar  [2ARAR AndlglaR @A (SHlsyae? A 2

frequency of LC tank circuit?

USeq] [Aulzel aa &2




8|What is the name of the circuit Astable RC coupled Wein bridge Audio frequency |52 SLUUH] ollH 9 B? Ueod UlddeR ARl sua Adat (dos HRARR [AUSUL glsaol
diagram? multivibrator amplifier oscillator amplifier vl Al sl
9|What is the percentage of charge 40% 0.5 0.632 0.864 2 28U Sloveoe HAlEloll vld 5UReR  [40% 0.5 0.632 0.864
accumulated by the capacitor at the glRL AAURA Aell estaudl g B2
end of 2 time constant limit?
10|How many time constants required to |Four time constant |[Three time Two time One time sUR2RA Aot Yul A% cleeell $R 2l sl Yl 2lBH St |2 2lEH SloReo clol 2lOH Sloreod
change a capacitor to 63.2% of its full constant constant constant 63.2% ajh[l oledall Hi2sARLESH
charge voltage? SlReod %3 B?
11|Which circuits commonly use parallel- |Stereo amplifiers |Radio receivers  |Television Automatic sl Us2A AHUL A VAA xlRal Andlstad [Asa Adlad 2lAldaet ARllad  [welncls dleees
fed hartley oscillators? receivers voltage stabilizers |¥selecll BRA22A GUAdL 52 B? RlAcusxnd
12|What type of arrangement is required |Provide negative |Provide Increase the Increase the AWRARR Uls2all wWRAUAA 2sicll Adcla slsals Aol slsols  |olad e auRl|gesseR ol
to sustain the oscillations of the feedback regenerative bias voltage value of inductor [ual M2 sl Ysie{l ollsagisll wlUg ulug Eudul au
oscillator circuit? feedback UlASAL B?
13|How the frequency of oscillations By changing bias  [By changing By changing By varying WAA %5 sledl HWRA2 ML ollad B R1  [sURle: Al 1 sulKe Al 2 (Qldu suRle? 2l
varied in the parallel-fed hartley resistor R1 capacitor C1 capacitor C2 capacitor C WRAAAA glsael 3ecll vecta B2 |oeclal olec{lal olecllal gLl
oscillator?
14|What type of waveform is produced  |Square wave Pulse wave Triangular wave |[Sinusoidal wave [R1% %5 sledl 2RARR sl sl AR dd Yyt da glrAA2A A AUAARSA Al

by the series fed hartley oscillator?

YslRe] AdSH olollalclHi 21d B?




15(Name the circuit diagram? Astabile Bistable Monostable Timer circuits Ulse slaAUHa oM 9 B? Arud Hldge |oireud HlollRe e 2lTHR ulseu
multivibrator multivibrator multivibrator H@@ae? H@@ae?
16|What type of feed back is used by the |No feedback Positive feedback |Negative Both positive and [[Retc 9& scll Hle Atet-lol sleS slsals oell wslela slsas AdlEla slsals olal WSlela ual
wein-bridge oscillator to oscillate the feedback negative WRARR gL sl ysirell gls Asal ANl flsAs
signal? feedback GUAdL sRcUML wA B?
17|How to improve the frequency stablity |Increase the By using quarty  |Using Land C  |Improve the WRARR AUlseAul glscorll RAR AAlAd dlawell  [saldl (sedal UA W Lol Ulseuell Yului
in oscillator circuits? supply voltage crystal property of Sl A yuRdl? Al Gualal s3lal GualoL sl YURL s
circuits
18|Which is the transistor used to AC 127 BF 194B BC 148B AC 188 slcfUed AURAARA udladal e sl |AC 127 BF 194B BC 148B AC 188
operate the colpitts oscillator? 2o GuaL AU B?
19|How many time constant period is 10 time constants |7 time constants | 5 time constants |3 time constants [5U[R2a YRluRl A% scll He $2cll |10 2l8H Sl2o |7 2LBH SloreoR 5 2l8H Sloveoe |3 2LBH Sloreoe
required to fully charge a capacitor? 2LTH Sloreo AHANA 33| B?
20(What is the purpose of capacitor C4 |Bypasses Charging and Supplies base  [Determines the  [WRU 582 [Qse WRAHL 5UReR  [¥Hlet U Sl dlee AR [2leBrea s [RARIALDL
in the RC phase shift oscillator? unwanted HF discharging of de [bias to transistor |oscillating Al 44 & 9 B? (A e90{l2L el (St ol Al slsclor{l otssl 52 ®
oscillations to voltage frequency AAAg AU RAUL
ground ollAUWR 52 B
21|Which types of amplifier configuration |[Common base Common emitter [Common Common mode  [u[seul sal ArcllsiaR olsag(lel slHol B slHat AMeR slHot 5AS2R slHot HIS
used in the circuit? configuration configuration collector configuration GualoL Ul B? ctetellsdt ctaellsdt cataRllsdt ctetellsdt
configuration
22[How to overcome the problem of Apply opposite Provide negative |Using high Q Increase the Al ARAUL glsaal (3524l Rl [d3s Adlela slsals ol 5 SloCl Wl [AelA cdleexall
frequency drift in LC oscillators? polarity of signal  |feedback coils and good  [supply voltage  [dHUA 3l A g2 scl? WARE cof s [2ul A3 ofLetdisll Al

guality capacitors

0[R2 Gual
52l




AR s ulse

Why LC tuned circuits are not used in
audio frequency oscillators?

LC values

required is too

large

LC components
are not available

LC tank circuit

produce AF

LC tank circuit
operation
requires high
voltage

Asul glsaall AURAHUL AR
ggcs UlBe w12 GuAWML At
2

33| VA (SHA
ol WEl B

AAA sLlloto2
Guaod ol

UMl s ulse

AAs el Vel

5 otell

s3] 12 G
Alcossll %32 ud
R




Name of the Trade :

Electronic Mechanic - 2nd Semester - Module 3 : Wave Shaping Circuits

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1{What are the basic components Diode and resistor |Transistor and Diode and Capacitorand  [(sQUoL AUs2 M2 ulaus Hoed SLALS Wl (B2 [2UeBRRR el SLALS [SLALS Aal SU[RRR [5UeR wal A 1
required for a clipping circuit? diode capacitor resistor uesl 9 8?2 Addeer
2|What is the name of circuit? Half wave rectifier [Full wave rectifier |Combination DC restorer circuit|(s2e] ollH 9] 8? 8ls Aot vsclslar  [get Ad 2sclslar  [stollaaet (sAur  [slall Rl ulse C 2
clipper
0¥ oA ¢
" Wt y g
H
3|Which circuit gives the output Peak clipper Combination Biased negative |Biased positive |s8 u(se wlGaye Adsld uU B? Uls (sQuR sliollaatel (SQUR  [wlla Ad1Ela ollad Uela D 2
waveform? clipper clipper clipper sAUR sAUR
4|Which circuit is used to clip portion of [Combination Biased negative  |Biased positive |Unbiased clipper [8e1ye Roelct clce vial WAlZla wal [sliollaaet (sAUR  [ollat adllal ol WAlElal UaolaA FAUR A 2
both positive and negative half cycle |clipper circuit clipper circuit clipper circuit circuit ANl sls ULASAaAL AL (AU ulse sAauR ulSe sAauR ulSe ulse
of input signal voltage? sl 12 58 UBeall Gulol AR B?
5|Which application the clamper circuit |Radars Radio receivers  |Storage counters |[Power supplies  [8@sgllasaul sQUR AUlseall Bualol  [sIR s(sal Arllarl RRY 5162 (g yrasl D 2
is used in electronics? s2al A3 oletul ala 82
6|What is the use of clamper in For slicing both For positive peak |For negative For DC BAszlAs ulseUHl sAUREA Gullol g [elal Uls slicing Hie [usRLcHs Uls adlelel el Sl wes D 2
electronic circuits? peaks clipping peak clipping component 87 (sAafol w2 (sAafol w2 YotReU U HIR
restoration
7|What is the name of the circuit that ~ |Peak clipper circuit [Negative Positive Combination Us2d] ol g B ¥ Yo RAetea Gewt  [Uls AU ulse  [lEla s@blol  [wollla sabual  [shollaeet (sAu? B 2
shifts the original signal in a vertical clamping circuit clamping circuit [clipper circuit (Raunl (Bouni ¥2a 87 ulse ulse ulse
downward direction?
8|What is the function of the circuit Series diode Positive shunt Negative shunt |Combination ulse staulHe] sl 9 82 AR stals (sAuUR [WAlElal 2l AlEld o2 (SAUR [sLsllal2let (sSAUR B 2
diagram? clipper clipper clipper clipper EAUR
() 4 Ru
] ]
9|What is the function of the circuit Negative series  |Series diode Positive shunt  [Negative shunt  [[se Sl2ULHe] sl 9] B? AdLEla ARl (sAUR [RR stals AuR [Wailela 2w ALEla A (SAUR | B 2
diagram? clipper clipper clipper clipper sAUR

—
LY ¥ Re

|
EMZIOA4




10|Which circuit gives the output Negative clipper  |Biased negative |Combination Positive shunt st5 ulse wGeye Adsgld u 8? Adela (saur ollad adlela sliollalatet (sQuR  [WAblela ae (saur
waveform? clipper clipper clipper sAUR
!
L
;
11|Which type of clipper is that a small  [Biased positive Biased negative  |Combination Positive clamper [s2l UsRell (SAUR A 8 § Rlooicdloll  [orat WAlla ollA™Y A2l stiolaalet (sQuR  [Wolldla saruR
portion of the negative half cycle of  |clipper clipper clipper ANl &l UASHAL olloll @O §R BAUR sAUR
signal is removed? S AA B?
12|What is the name of the circuit that ~ |Clipper circuit Clamper circuit ~ [Biased clipper  |Combination Uls2o] olld g B ¥ Addglia Aall sAQuUR lse sAIUR Alse ollad sAQUR Alse [slaaet (sAQur
shifts the waveform upward or circuit clipper circuit ULS1Ral UAA USlASAL IR GUR ule
downward without disturbing its waal oA ¥4 B2
shape?
13|{Which circuit gives the output Peak clipper Combination Biased Negative |Biased positive [s8 (52 uG2Yye Adsld W B? Uls (s@uR siiollaaet GAQUR  [ellat AdEla ol Wlelal
waveform? clipper clipper clipper EAUR EAUR
—Vimax ; :
]
14|What is the function performed by the |Positive clamper  [Combination Biased positive |Biased negative [(s2 glRl scllHl AUAG sl g B? Wlela sAruR sliollaatet (sAQUR et WalEla ollad d2lal
circuit? clipper clipper clipper EAUR EAUR
15|What is the function of clipper circuit? |Regulation Rectification Amplification Wave shaping  [(5QUR (52 sl 9 B2 [2urat JULRQU Andlssaet Ac wsRell
16|What is the name of the circuit that  |Peak clipper circuit [Negative Positive Combination Ulseo] ol g B B Yo Retea Gell  [Uls sAur dlse  [adlela sabuoal blela safdol  [slaaet (sQuR
shifts the original signal in a vertical clamping circuit clamping circuit  |clipper circuit (Founl ¥2a B2 ulse ulse ulse
upward direction?
17|Which circuit shapes the input signal  [Negative clamper |Positive clamper [Negative shunt |Positive shunt  [$8 (52 8eiye Rostctal SR U & [ANEld sAIUR Wolldla sdrur  [a3la 2lee (sAUR [Wllela 2l
and gives the output waveform? clipper clipper ol ABaYe AdgH W B? sAUR
*ﬂ/ X/“
TIME -t —— = §
18[What should be the time constantt = [Half the time Double the time of |Five times the  [RC valves should [8ety2 Retctoll AHAUL U ARl [ReAaA Wstll Rt slsclolloll  [[Roetctoll Uil oWl [l atea
RC for a good clamper circuit with period of signal signal frequency |time period of  |be at least ten SR U2 HIZ AHA Udd &l = UHA AHA sud wdd VML oL €A
reference to time period of the input signal times URAL 9 8l ASA? o &l AesA

signal?




19|What is the value of output voltage Zero voltage Equal to input Double the input |Half of the input  [adl2cl sAIUR Alseul staulsul aAdEla AR dleew Bolye clce UHlot|eelye dlcexal Bolye cleeoll
during the negative half cycle across voltage voltage voltage 8l AAsA eRaAlt wBYe Aeyq] SolA 531 WSl UL
the diode in the negative clamper HEA g B? (AR HERL Yol Gy B)
circuit shown? (R value is very high)
il —
R Di!!
20|When does the biased negative During the positive [Signal voltage is  |Signal voltage  |Signal voltage dolegsct Adleld ((AUR sUR 8oy  [Betyeell Wollela  [[Rostcet cdlee Rooid cllce A [Rloetlct dleey
clipper removes the portion of input  |half cycle of input [lesser than bias  |equals the bias [becomes greater |d&cloll @Ol £ $3 82 8ls AlASA o A2dl ey |clay Azdl Ay |cay Azdl dey
signal? battery voltage battery voltage  |than bias battery g2t scll WY O YUl B $cll dUR olal &
voltage
21|When does the biased positive clipper |During the Signal voltage is  [Signal voltage  [Signal voltage  [olald WASlElal (SAUR sk Betye gotyeell ANl [[Rostcet dlee Roetct dlee A [Rosla Al
removes the portion of input signal?  |negative half cycle |lesser than bias  [equals the bias [becomes greater |d3cloll @Ol £ 53 82 8l AlASA o A2dl ey (el Azdl Ay |cay Azdl dey
of input battery voltage battery voltage  |than bias battery gR 2Lt sl WY O YUl B $cll dUR olal &
voltage
22|Which circuit shapes the input signal  |Negative clamper |Positive clamper [Negative diode |Positive diode s U(s2 Bolye [Rostctal SR AU B [AEld sAIUR Wlldla sarur  [ad12la stals Wollla stalls
and gives the output waveform? clipper clipper U wIBeye Adgld wl B2 EAUR EAUR
VA“‘ ‘ TIME -t ———=—
a ;
]
23|What is the value of output voltage ~ |Zero voltage Equal to input Double the input [Half of the input  [W[B(2cl sAuR Alseul stalsHl AR cdleer Boiye cdlee UHlol[Botye cdlceal Botye cleexall

during the positive half cycle across
the diode in positive clamper circuit
shown? ( R- value is very high)

voltage

voltage

voltage

Wolléla sl Aset et B2y
gic%‘xaj Het 9 B2 (AUR- HEL Yol Gy
)

SHEA §3

USUL UL




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 4 : Power Electronic Components

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|What is the name of the region marked 'X’ |Saturation region |Peak current Valley current  |Negative el Al@lsdloll dais UR s A ant Uls 822 ast adl s2e aa Adcla el &2 D 1
on the UJT characteristics curve? region region resistance region (&t Y atetl olln 9
8?
vey
|
:
2|What is the name of electronic device UJ.T FET DIAC TRIAC 8aAs2las GusW Udlse ol 9 B2  [Y.%.2l. u5.6.2l. DIAC 2L8s A 1
symbol?
E E TZ
B1
3|What is the common and popular Multivibrator Voltage regulator |Relaxation Motor speed .. 2loll UHLeA ol Al EICRER Al [anoisik  [RAsAalet ARARR [HleR ls [Aa1ts C 1
application of U.J.T? oscillator controller AMABUet g B?
4|What is the maximum forward gate current |5 mA 8 mA 10 mA 20 mA lAssue) 10 gulgel e e |5l 8 Al 10 20 Hl C 1
(Ig) for BFEW10 JFET? gRad e ddHlal (AUB) 9 B?
5|What is the package type for BF 245B? TO-72 TO-92 TO-82 TO-102 ofldg 245 ofl e Us UsiR 9 82 g -72 2-29 dl -82 TO-102 B 1
6|How gate is biased in JFET? AC supply function | Forward biased [Reverse biased |Dual supply AU gSlHl e Scll A uatuld 82 AL yYasl st VUL LAY ydoe A3« SYUA LA sl | C 1
function
7|What is the gate current (Ig) of the JFET,  |Practically very low |Practically zero  [Practically unity [Practically infinity [s$¢2l (GFET) il 612 clcHlol yalls Ad wo  [caaslzs 9ot clasllzs Asdl clasllzs Aold B 1
when reverse biased? RUB%) 9 B, 2AR UsUld Gcald 87 [l
8|Which is the N - channel FET? AC supply Main current flows [Main current S-terminal ol Aold A3 53] B? 280t 2ot A yud yalg Aot- e yaie Ul-slw [Ru-2etc B 1
connected to drain [through N-doped |flows through P- |connected to RstAct AL SIS WH gl [Nl sl ad B [WAlEla wd
termin material doped material  |positive AAlA ad 8 A slAA B
9|What is the name of electronic symbol?  [Silicon controlled |FET N-channel  [FET P-channel [UNI junction saAsglAs Udlse] ot 9 82 RAslot (RaRd  [Asgel Aot Aot [AsETel Ul Aol [ty 520t B 1
rectifier transistor YuURs 22

—

o

s

ez




10|Which device is a unipolar transistor? uJT FET BJT IGBT YAUAR 2i[ReR sal GusWL B? Y2l EE olledl w9 oll2l
11|Which is the package type for the JFET TO-62 TO-72 TO-82 TO-92 BASCl ollAgseeR] 10 HIE Us% TO-62 g -72 dl -82 2-29
BFW10? Ysi sl 8?2
12|What is the maximum drain- source 10V 20V 30V 40 V HetH 8ot-Blld_clees, Buselu 10 dl 20 dl 30 dl 40 dl
voltage, VDS for the JFET BF 245B? olAg 245 ol 1R ASlAY g B2
13|What is the term stands for TRIAC? TRlode Alternate |[TRlode DC TRIode AC TRIode Access  [glls 2AsEotl W 9 B? Aslal dslcus (udls slall (AAslaL AL 2L2Als ASA™Y
control semiconductor  |semiconductor  |console BEETE AR ssser AR sosser Sol\A
14|What is the maximum specified voltage for [1.5V 1.7V 21V 25V gllls claugll 201 S1 Hie HedH 1.5 dl 1.7 dl 2.1dl 2.5dl
the TRIAC TIC 201D? GeAMld e 9 B2
15|What is the code number of TRIAC? 2N2646 BFW10 BT136 2N1597 (Gultsoll 1S ololR 9] B? 2 Aol 2646 ollAgs0c) 10 ollel 136 2 Aot 1597
16|Which current flows in TRIAC between Conventional Principal current  |Reverse current [Leakage current [AAMEl 1 wal AHEL 2 A glUsHL 58 [URURDLA ddMlel [[UAUA ddHiet  [adHiet [Auld  [dlsy aduiet
MT1 and MT2? current dcdHlet Yyalg B?
17|What is the switching speed of solid state |1 to 25 nano 10 to 60 nano 1to 100 nano |1 to 100 milli AAs e RAxpell RARIL oA g 8?7 |1 dl 25 el AsS {10 Ul 60 Aol ASS |1 Ul 100 ool Ass |1 Ul 100 Rl Ass
relays? seconds seconds seconds seconds
18|What is the minimum current ratings of Few micro 10 milli Ampere (50 milli Ampere {100 milli Ampere [ollAl UlclR UsAIHL Guasd Ads e [alst Hiesl xid[2(10 Hlddl 2idlar |50 Hlel 20z 100 Hldl 2R
solid state relays available in low power Amperes AARA oottt ccdillot A2 g B2
packages?
19|What is the maximum current ratings of 1 Amp 10 Amp 40 Amp 100 Amp G Ulclk USAHL Guctond Alds =2 1 Amp 10 Amp 40 Amp 100 Amp
solid state relays available in high power RAxel HsttH aduiat A 9 B2
packages?
20|Which is the drain current (Id) in JFET? Electron from Electron from Electron from Electron from BASSHL 380t clciHlot (RUBS]) 9 8?7 (38l 6k Yl [l Hiedl 38at 28l At Yl [a1R &l At Hee
drain to gate source to drain  |drain to source  |gate to source sAs2el scl HI2 8AsA  |8ASsel saAs2al
21|What is the maximum drain - source 20V 30V 40V 50 V HotH (8- AR dlee, ollRAgsaiey]  [20 30 dl 40 dl 50 dl
voltage, VDS for BFW10? 10 He ISl 9 82
22|What is the maximum power dissipation {100 mw 200 mw 300 mw 400 mw ollRAg 245 ol {2 HeH WaR 100 Al 200 A.dl. 300 Roucdle 400 ..
Pmax for BF 24587 Bl Pmax g &2
23|Which is the device made and uJT SCR FET LED o 222 Gl Golldd WA WISLAA  [YXEl ENEYEY(EVTE Agesel A8, sl

interconnected by two transistors?

GusWL sl B?

24

What will happen in SCR with forward

Reverse current

Forward current

Reverse current

Forward current

U AAAMRHL AL uatuldedl Rald

Mol aldet

SRS clcdHlot

UG ALY UG 83U

AL ALY A&el

biased condition and gate current is conduction conduction stops [turned off conduction ol A2 A WA g UA? AR A3 WA O |cllsol Gl Al © AT AU D
applied? commences commences
25|How many layers of PN - junctions are Two layer two Four layer three  [Three layer Three layer four AR Slol52stil Ul vt - o R A ¥5Aet AR AR AR AQL AR AQL F5A AR R UR
used in SCR fabrication? junctions junctions three junctions  |junctions o52lotoll ecll Aol GUAL U B? %59lol of59lot
26{Which semiconductor devices are Diodes and Thyristor and MOSFETsand |[UJYsand FETs [sll QHso5s5eR [Sclled dot RAAHL  [Sl2Als™H wal B[R ua A HAUAYASBIRA [yl wal
composed inside the solid state relays? transistors transistors IGBTs B O? ;l@%a%i Ql@%ai:i A Ual U suUSE
s elldlAn
27|What is the function of solid state Low pass filter High frequency  [High gain amlifier [High speed AUAs w2 RA (RAAAUMR) of sl 9 [l W (g2 |G glsael GRL Aot ate dls RaRlat
relay(SSR)? oscillator switching 8? AWRARR ARAsR




28|What is the function of DIAC in the TRIAC [Stops the surge  |Used as trigger  [Used as low Eliminates radio  [(galls dotssietll [RA2QuHL DIAC of sl [uclle cclot (2012 BusRel d3L% [l Wt (e [%(s=0 slsasl
phase control? current device pass filter frequency 9 &7 uesla 8 Guallol Al ® 33 auga B SAAU €2 53 B
interference
]
29|What is the name of the component SCR uJT FET DIAC gts [golRoL ulsel 'x Rllad Uess]  [AuAAUR Y2l ERE DIAC
marked ‘X’ in the TRIAC triggering circuit? ollH 9| 87
g
30[How the lamp failures caused by the high [By the fuse Using MCB Using Safety By soft start glAtsell GuaadL s3lal el [SHR 9 6lU AUHlolloll Guaal [Yrel McRlusall  [oRM Yked ulse
inrush currents in lamp dimmer circuits resistor circuit UBeuHl QAL Gl Yadla 5l Gualol sl GlRL

using TRIAC is eliminated?

3ol AA A R a ®?

31| What is the purpose of TRIAC circuit? Switching mode  [Phase- control for [Analog to digital [Digital to Analog [ [$ls u[52all & 9 ©? RARlot Hls Wer  [dBRs Hler Hie  [dotlclol [S[ped  [dlatcldl socle?
power supply universal motors |converter converter AAA dotssl (A=ixal $oclR e Blzect
E
H

32|Which voltage level is reached to increase |Cut in voltage Zener voltage Break over Break down DIAC 1Rl 52Ml iRl scl M2 52 [clexHL sULd Dokl ols WlaR dleew os SIGalclce

the current through DIAC rapidly? voltage voltage AR R Bsudl usla B2
33|What is the construction of electronic DIAC SCR TRIAC IGBT 8aAs2las uesd] AHlgl 9 B? DIAC EETEY BT 2L8s e oll2l

component?

(N T,
N
e
GATE T

34|Which measuring instrument is used to Ammeter Ohmmeter Voltmeter Oscilloscope glas uR »sUl uRleal sal e sal  [AdleR wlaleR adlceHle? U RARSIU

make quick test on a TRIAC? HlUsl Altotoll GUALDL AA B?
35|What is the maximum drain current I for |5 mA 10 mA 20 mA 30 mA ollAgs0IER) 10 Hle HeTH J8el 22 ID [5 mA 10 mA 20 mA 30 mA

BFW10? g 87
36(What is the maximum drain current, I, for  [15mA 25mA 35mA 45mA ollAg 245 ol 1 HedH 38t 822, ID [15mA 25mA 35mA 45mA

BF 24587 9y B2
37|What type of control is used for FET? Resistance Voltage controlled [Current Frequency AUsS2L 1L sl YsRall [A2A2aLel URlY [AARd  [dleeey [ARd 522 [d2Ad slsclar{l (B

controlled device |device controlled device |controlled device |Guallol & 82 Gus?al Guszul Guszul Guszul




38|Which parameter controls the current flow [Voltage Current Frequency Resistance sl URAHI2R A clla-WAR 2i(BeuUl [cleeey 522 slscloll WU
in a Bl-polar transistor? 522 Yalsa [iAd 52 B2

39|Which device generates high frequency uJT TRIAC Op-Amp Transistor URld BSUL 2ol-wllat AHA 2L Y2l 288 A(U-Amp FEIEE
radio frequency indeferences by the GUS20L gll G glsalel ¥(3=0
extremely rapid turn-ON time? glsclodl Bod$0U ol ULA B?

40|Which characteristics exhibits the current  |Linearity Negative Positive Nonlinearity AR SlAs [SasuHl dlee U @R [dllaulRel Aela yldRlus  [WAlela et |(olatRulisal
conduction increases while the voltage characteristics resistance resistance characteristics |58 cllal@sARA 522 ydle cfl 8? Alet@s i Alas ARA Al@s AR Al s Al
across the devices decreases in a DIAC? characteristics characteristics

41[How the power control is achieved in the  [Phase control Voltage control  [Current control  |Frequency sAsellols UlseHl waR ol 5l [382 seld Ase [dleew seldulse  [s2e seld Alse slsalarll selcd Ulse

electronic circuit?

RFI FILTER
*****

,,,,,

EM230721

circuit

circuit

circuit

control circuit

AA Uit A 82

42|What is the load current handled by the Greater than 4 3 Amp 2 Amp 1 Amp HlAs e RA sk AU Als Als 4 Amp 5Rcll AR |3 Amp 2 Amp 1 Amp
solid state relay that must be mounted to  |Amp %{1{9 B GUSAL YA sRall Becls
some heatsink to protect the device? eleRls uR WGe $¢ wlc@US B?

43[How the solid state relays are working for  [Bulky profile Slower in Spark generated |[No moving parts [dwd RA[A RA 5dl Ad atleu oles LSl sto(Rlul Yl [RAu e auet Sle ;L Al
increased lifetime? operations during switching [to wear and tear |w®)clol HI2 SIH 52 B2 AU Vel 40 Aol sl wat

g2 atdl

a4

Which type of defects are occuring in solid
state relays?

More sparking

Intermittent
working

Tendency to fail
open

Tendency to fail
shorted

AAs ee Al sat ystell vudl
ud 87

ay xuLslol

SUHRACUG sLH

WlUet [Argn
acte(l acel

28l Al [Arsocll




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 5 : MOSFET & IGBT

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans ([Level
1|What is the full form of the abbreviation [Minimum output Medium oscillator |Metal oxide Metal orgamic MOSFET (&lic a3y %j 8? Minimum output Medium oscillator [Metal oxide Metal orgamic C 1
MOSFET? signal FET signal FET semiconductor  [serial FET signal FET signal FET semiconductor FET |serial FET
FET
2|Which type of MOSFET constructionis  [IGBT Dual-gate Deplation type  [Enhancement sl Yslell MOSFET [Axlal yraatdl [uswollel SYAUA-I2 shudalat elesu UodlodNoe 2lSU B 1
indicated? MOSFET MOSFET type MOSFET uld &7 MOSFET MOSFET MOSFET
BT e :
3|What is the name of the electronic N- channel P- channel N- channel P- channel BAsglols Ueso] ol 9 B? Aol-Aold sirAet [Ul-Aatcd SlAQet  [Aot-Aoicd Yl-Aelcd C 1
component symbol? depletion type depletion type enhancement  |enhancement yslk MOSFET yslk MOSFET UodlodNoe YSIR  [AoslotHoe YUSIR
MOSFET MOSFET type MOSFET type MOSFET MOSFET MOSFET
GJJ
4|What is the name of the electronic JFET IGBT P channel N channel vaAsgllols ueso] ol 9 B? EOERE wsullel Ul Aol MOSFET [Aotl Aalcd D 1
component symbol? MOSFET MOSFET shaalet ysi? MOSFET Slu@2let
depletion type depletion type usi:
GATEGDJ % SOURCE B
—O SOURCE 8 E
5|What is the name of electronic JFET IGBT P channel N channel saAsglls ues Udlse] ot 9 82 EOEREN DEISALEN Ul Aotet MOSFET [Aet Aot C 1
component symbol?VJFET MOSFET MOSFET dlga gl slhaalet ysi? MOSFET $Slu@let
depletion type depletion type usie
6|What is the type of MOSFET? Depletion type Insulated gate Enhancement  |Enhancement MOSFET oll Usl? 9| 87? (SwAgtet ysi? BoAeS A& FET [AodlodtHod YSIR  [AodlodtHod YUSIR C 1
- MOSFET FET type N-channel |type P-channel MOSFET ol Aot Yl-Aeldt MOSFET
\ = MOSFET MOSFET MOSFET
E
7 Photo - SCR Photo - TRIAC Photo - Photo — ARl s1AReAl UsR 9 8? glel - AuAlR slel - 21As slel - 2UeBeR slel - silddteat C 1
Transistor Darlingtion

EutE1D




8|What is the name of the electronic P-channel N-channel P-channel N-channel vaAsgllols ueso] ol 9 B? Yl-Aotet slidalet  [Aot-Aotcd Slaelet [Ul-Aacd e
component symbol? depletion type depletion type Enhancement  |Enhancement ysl: MOSFET ysl: MOSFET UcdorNo2 USIR  |WodorNo2 YUSIR
MOSFET MOSFET type MOSFET  |type MOSFET MOSFET MOSFET
o]
9|What is the type of MOSFET symbol? N-channel P-channel N-channel P-channel MOSFET Udlsoll usiRk 9 82 Uot-Aolcd Yl-Aolcd Uot-Aotct SlAet [Ul-Aetct slrAslet
enhancement type |enhancement depletion type  |depletion type UcdlodNoe YSIR  [AosletNoe USIR  [USIR MOSFET ysl MOSFET
> MOSFET type MOSFET MOSFET MOSFET MOSFET MOSFET
GD—{%
10|What is the name of this special type High frequency Junction field Silicon bilateral |MOSFET YR sasAetalol Al (Al ysiRell 8l slsaadl oslel & WAR  [RUASslet [auellas  [MOSFET 22l8s
electronic device with four connections? |bipolar transistor |effect transistor switch TETRODE 6@5@@5 Guseetoj alH %j 87 GLRAWAR al@%aa ;L@%a? (1
11|What is the maximum blocking voltage of [440 V 1000 V 5000 V 6000 V AUSo{lo{lZl Hisyetl yol o BRIl adHtet (440 dl 1000 dl 5000 cll 6000 dll
very high current handling IGBT modules? 3os(Aotoll HetH cAlslol AR 9 B?
12|What is the input impedance of IGBT?  |[Low input High input Medium input  |Infinity input LB GllElell Botye waRu 9 B? WYL Bolye G Bolye ALY [HAH Bolye Uold Bty
impedance impedance impedance impedence A A AAY RN
13|What is the use of the test circuit? To test the To test the To test the To test the e ulseoll Gualal 9 82 AUgSeloll sl Beloll staAsizl  [US..ollel ol [RAASRARAL sH
working condition |working condition |working working condition scllell RAMA QA ustaal HR [stH sclell RAA [sRaell @A
of FET of UJT condition of IGBT |of LDR AslUal HLE AslUal HIE AslUal HIE
14|What is the advantage of MOSFET? Fast switching Slow switching Higher power Low thermal MOSFET oll $l2UEl 9 82 35Ul RARDL BsU [Rell RARIDL 35U [ele waR Al sAsAal-BA ol
speed speed gate signal ionisation of Roetc Al aret
electron-holes WlAASRB2Uot
15|What is the advantage of MOSFET? Superior current  |Low gate signal  [Very low on- Low driving power[MOSFET oll (el 9 87? YRR aduiel  [lliet A2 Reld  [ujel AUl allet-ee AL gLesldol alsa
conduction power state voltage Lot &Ml UldR ALARASARA |l
capability requirements
16[What is the advantage of IGBT? It has low input Low efficiency High efficiency [IGBTisagate [U8®u{lloAl slael g B2 AHL AL Betye [0 st G sldattdl  [puedlel A de
impedance and slow switching |and fast current driven AU B U Uy RARDL  |ua »sUl RARDL [sR2 AulAd
switching device GusWL B
17|What is the advantage of IGBT? Low driving power |Low gate signal  |Fast switching  [Used to isolate  [eclllal slAEl 9 B? AL stesldoal alsa |dl Ae Rostet AUl RARloL BsU [l s ARsle
power speed logic circuits ular UADL sl HI2
cI1ID12] &
18/6 What is the input impedance of Low High Unity Infinity 6 wBYUEloll Botye waRu 9 B? uEY G ERT ot

IGBT?




19|Which is the property of IGBT? Low input High efficiency Low gate signal [Significant power [weollloll Auld st5 82 A Botye G sldatdl  [cll de [oete ol Ul sl
impedance and fast switching consumption U AU wa 3sUl RARIL aurLel

20(What is the main advantages of IGBT Fast switching Superior current  |Reverse bias  [Thermal limits ~ [o{l®El GUR wusollelol Hual slael g [3sUl RARL B3su [YRaR s22 Rad cuax A HAEL UR

over BJT? speed conduction secondary break |are pushed to the |&? aAlgal &Ml A5o53| A5 SIBR |UR EGURL ScUML
capability downs edge ulad B

21|How many alternating layers are there in |2 layers 3 layers 4 layers Single layer vsollelul sedl dslcis Rl 82 2 Rl 3R 4 3R\ EERE
IGBT?

22|Which insulation layer is used in Silicon-di-oxide Arsenic material  |Antimony Germanium HuseHl 58 8ot QaRell Gualol [RAslet-sl- wRlAs a9l Ul Hloll Al [yl umofl
MOSFET? material material AA B? UWSALBS

23|Which electrical quantity controls the Energy Current Voltage Frequency WBUEAR U2 [Sclsoll AU [Blots] §32 adlee slsclal
operation of the bipolar transistor device? sl AR SA w2l (AR 52 B?

24|How the two series connected channel  |Independently Alternately One atatimeis |Both are A AL, [S1Aet UsRell YA e [raldat A [[RiAd [dslcus ld AUs 1A As olal As QA
regions of the depletion type dual gate  |controlled controlled controlled simultaneously  [Hld%2al 3cll AlA [RRUAA 53 82 QiR QiR wa & QiR ®
MOSFET is controlled? controlled

e |
oupsTRATE GMLNEiREZnNB s

25|What is the name of the layer marked ‘X’ [Depletion layer Inversion layer Insulation layer [Recombination [MOSFET [Axlaul X' Rl&d e sluAslet R golcldel R BoJAot R AsGAAUA AR
in the MOSFET construction? layer cRo] ollM g B2

26|What is the drawback of IGBT compared |Poor switching Poor current Higher driving  [Not suitable for  [ulcl? MOSFET oll AuuHe(lHl atotoll lRloL Bsufataoll $22 deet  [eleS gtsldol war  [waR AAsAA
to the power MOSFET? speed conduction power power weYellElell will 9 &2 Ml NECEIER H2 201 o2l

capability requirement applications

27|How the drive circuits for the power Direct coupling Using logic Using pulse Using transistors [Wa? MOSFET Hie glecl Alsed sl [starse siclat Alys AseAoll  [Uc alouslRell  [2llereR Heedl
MOSFETSs are coupled? method circuitry transformer A st 82 ugld Gualol sl Gualol sl

28|Which circuit uses the enhancement type [High frequency High power Low power Integrated MOS |52l U(S2HI WodloNoZ USIR MOSFET [8l& slscladl 8Ly UlaR Al waR ARAR [8ledes ‘
MOSFET? switching circuits  |amplifier circuits  [oscillator circuits |switching circuits |oll GUalloL & &7 RARL ulBeu Andlslar uBau [UEeu AHAAY RARIL

ulBezu

29|When does the complementary metal While it holds its ~ |Always consumes [Never consumes |During switching 1%2}5 ned MUsUBS Uslk MOSFET A dell ke uRd B]enall Alsdsl SR UlaR Rau e auat
oxide type MOSFET configuration state power power $(e%01R200l SAUR ULER AlUR 8? Gualal 82 ® aAluRA o2l
consumes power?

30[Why the electronic device IGBT is Low switching Higher driving Higher switching |Suitability for Al Ml WaR MOSFET WR 8Asallals  [Aledl <Rt 35U sl geslaol slaR Rallot Hlslau war

preferred over the power MOSFET?

speed

power requirement

repetition rates

medium power
applications

GUs2WL Aol ure saUHL 21
8?

AR A Ldusdl

Yollalldd €

AMAFAU M2
212Ul




Name of the Trade :

Electronic Mechanic - 2nd Semester - Module 6 : Opto - Electronics

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |[Level
1|What is the minimum forward current |5 MA 10 MA 20 MA 30 MA ol RO 5ER AABS] HIE oot [5 AHA 10 AHA 20 AHA 30 AHA C 1
If for single colour LEDs? glkad s22 9 82
2|What is the forward voltage drop of ~ [1.8 V 2V 2.1V 2.2V RO sAR §s AABSld] sRaS 1.8 dl 2 dl 2.1dl 2.2dl A 1
single colour Red LED? dlee QU 9 82
3|What is the typical forward voltage 1.8V 2V 2.1V 2.2V %S scAR AABSloll Sldlsd sas  [1.8dl 2dl 2.1 dl 2.2 dl A 1
drop of the RED colour LED? dlee QU 9 82
4|What is the maximum reverse voltage (8 V 12V 15V 32V Hs{lHH Rlardl dleeey 9 8 %ol 8 dll 12 dl 15 dll 32 dl A 1
that can be applied across the general UM 3 AABSIHL Buallol s3]
purpose LED? asla 87
5/What is the typical forward voltage 22V 21V 2V 1.8V Rlowct seR acll Aawslell eldlsa (2.2 cl 2.1dl 2dl 1.8dl B 1
drop of the yellow colour LED? glRad Al Qlu 9 ©?
6|Which material is used to make LDR |Cadmium sulfide  [Lead selenide Zinc sulfide Copper sulfide  [GRUAH AR ¥3Raldl Ul ssHaM uesss  [dls AA«UssS Als UCKLSS SlUR AUCHLBS B 1
for higher end requirements? WASIAR olotlalell HIZ 5
Aol GulloL Ul §?
7|What is the range of photo current for [0.1IMAto 1.2MA  [0.2MAto 1.6MA  [0.3MA to 2.7MA [0.4MA to 3.8MA [$l2l 2UeBeR BPX 38 Hie slal Al [0.1MA dl 1.2MA  [0.2MA Ul 1.6MA  [0.3MA &l 2.7MA  [0.4MA &l 3.8MA B 1
photo transistor BPX 38? sclell % ¥edl B2
8|What is the type of transistor BPX81? |Uni - Junction NPN - Photo PNP - Photo Audio frequency [2UeB2R BPX81 oll USIR 9 87 (ol - 52Ul AUt - glal [UlaAat Ul - slal  [aS2 slsasl B 1
transistor transistor transistor transistor 2l 2l 2l 2l
9|What is the function of opto-coupler in |Amplifier the signal [Converts voltage |Produces Defects the (Slwect tetye Rastcetl RAlAaL Roetc AndlglaR [clcaa s2Hl (gt way Asd  |RARIL Rdetcstl D 2
the switching operation of digital input into current electrical noise  |operation of UURAAHL ARl-51AR0] s12l 9 ©? %4 8 Gaud 52 B AU gt
signal? signal switching signal 52 8
10|What is the forward voltage for the 0.5V 0.8V 2V 25V Rowe s&R atiRall AUassledl 0.5dl 0.8dl 2 dl 2.5dl C 2
single colour orange LEDs? Adlsct glRad ARy Ju g 82
11{Which material is used to make LDR [Aluminium sulfide |Cadmium sulfide |Zinc sulfide Copper sulfide  [olll AR 3Rl He AASRAUR [RARMA2H ssHan ueslss [Als uestss SLUR UCHLBS B 2
for lower end requirements? olollalall M2 585 AHIlAl GUL  |UCHLIESS
A B?
12|Which circuit photo SCR opto DC circuits AC powered Amplifier circuits [Counter circuits |82l (52 $lal AAA{[UR 2l SIRAL alsea A Auldd AnclslaR ulsed [5G0 Alsey B 2
couplers are used? circuits ARl GUAloL WA B? ulBeu
13|Which circuit uses photo-darlington  [DC circuits Counter circuits  [Amplifier circuits |AC powered sal ulse slel-sidoea [Sausaal [l Alseu 5162 UlseU AclslaR ulseu (A AulAd A 2
devices? circuits GuAdL 52 ©? ulBzu
14|What is the advantage of PIN photo  [Low sensitivity in  [High sensitivity in [Medium Low sensitivity in |[Uet $l2l slalsUetl SLAEL 9 B? Bo51%S AR(HL Bo51%S AR(HL Bo51%S ARHL Ucla1AR B 2
diodes? the infrared range  [the infrared range |sensitivity in the |the Ultraviolet Al AAdeatolldcl |G dAeatdladl |Hean oo Hl A
infrared range  |range daeatalleddl Aadeatallddl
15|Which of the device is opto-coupled  [BT136 B3202 2N2648 MOC3020 wlel-sucs [Bulsu 8 BusWl 82 [BT136 B3202 2N2648 MOC3020 B 2
TRIACS?
16|Which is the combination of photo LASER diode and  |Photo transistor  [Photo diode and |Photo resistor slel 2ldRere] slivllalalet sl B2 [AUR SlAlS ual 12l alloBReR Aal  [slel staAls Kal glal B2 Ual C 2

transistor?

pin diode

and DIAC transistor

and TRIAC

Mot stlls

DIAC

2lPrer

2l8s
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What is the advantage of photo
transistors over photo diodes?

Considerably lower
sensitivity

Limit voltage
handling capacity

Considerable
greater sensitivity

Vulnerable to
electrical sources

gll stadls U slal 2ildredall
slA€l 9 ©?

alluuL
ddeatallddl 20

Halled cleey
&os(cdL atHll

alluL L
Haeatalletdl

(gt B Al Hie
SLul

18|What is the use of photo transistor?  [Used in comparator [Used as light Used as Used as glel 2leBr2all GUADL g 8?2 srdReR Alse age seld la [RRA2R |35 (SHlsydeR 313
circuit controlled switch |oscillator demodulator 3% Gualol 3% Guaowui GuadL A B duRvA 8
Aalad 8
19|What is the drawbacks of LDR? More sensitive Available different [Cannot be used |[Made of low AASRARAL WiHlA g B2 ay ddeatellad Guatod [Aldu s [AssU Uslal xRk |allst (Bl ua
sizes and to determine resistance U (AR |otssl sal HIR U\ 22U
specifications precise light material with few aludl astatl ol |l cottetaltMi
levels holes A O
20|Which material is used to make photo |Silicon Germanium Aluminium Cadmium sulfide [$l2l R RIASRAR) cattaal  [RIAlsIa [Aun AURMAUH ssaAU UCsLBS
resistors (LDR)? HER 58 WHSlell GuAloL ald B?
21|What is the main application of photo |Voltage rectification |Demodulation Controls of To generate glel ABee{l Yuat AAZAA §  [dlRw sclls5aet [[SHlsyALUet & A3l cusleatl wRA2Let VEL
resistor? purpose street lighting  |oscillations 87 Rert (il sl HI2
systems
22|Which purpose the cadmium sulfide  |Primary cells Rechargeable Light dependent [Voltage SsHaM Auesss Ac (R{SlRAx Ylauzl A A sal 202 [ustel AUl d alcee wUlRct
cells (CDS cells) are used? cells resistor dependent AG) sAUL & HI AU B? A W RAUS AR
resistor
23|How the light sensitive photo By the bias voltage |[By the external  [By IR light By the light alefe Uogoll AER AN UsLal slel 2B U2 [2UlDBReRal ollal Ugogoll AER uER yslal
transistor enclosed inside a tight to the photo signal to the produced inside |[sensitive receiver [dAgat2llet §12 2iBe2 3l A |ATH ARy gl [A¥d sl Gaulled usuRr  [ddestalld AAlar
package is activated? transistor transistor the package inside uBa aa B2 clge gl gl
24|Which measuring instrument is used  |Oscilloscope Voltmeter Ohmmeter Ammeter glel (0% (RAASIAMR) oll s1H W RARSIU alceHle? ONETREE AaleR
to check the working condition of a scllo{l RA(A UsLAU HER sl
photo resistor (LDR)? HUol Altotoll GUALDL AA B?
25(Which electronic device inversely Photo diodes Photo resistors Photo transistors [Photo voltaic cells [$2l 8@sglaAs [ScUsU dstl Uslaal [slel stalsd lel R slel alloe slel s A
changes its resistance with the Aotl U Usdl ystatell Hiouni
amount of light falling on it? oledld 52 87
26|What will happen if the photo resistor |Resistance will Resistance will Resistance will |Resistance will  [$l2l A3 RAASIRAR) oll [Aat et 10 Yl %ot 100 ¥ AU 1KQ [ AL
(LDR) is exposed to low level light decrease to 10Q  |decrease to 100Q |increase to 1KQ |increase to rtRell ystaell RARML veell azl |eets delsd 1IMQ Yl audl
condition? around 1MQ dl g a2




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 7 : Basic Gates, Combinational Circuits, Flip-flops

# |Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|How many inputs are available in the 7447  |One Four Seven Eight 7447 o{[}[Sl-g-Actet A2HR Us YR Ald L6 B 1
BCD-to-seven segment decoder used to SISlsul B2l Betyed Gudsd © %
drive the LED display? LED SlWAa Aclaal HI2 duRlA 87
2|What is the type of flip-flop circuit? D flip-flop T flip-flop JK flip-flop R-s flip-flop ([SAU-seiU Uls2oll UsiR 9 82 Sl (sAuU-sclu 2l ([sau-sciu %5 (SAU-SAU UR-UY (AU- D 1
sAlU
) i
3|What is the power supply required to operate [+ 1.5vto+2.5V  [-1.5vto-2.5V  [+4.75vto + +75vto+ 12V [MlEl ay elesd Slelaa el Ao [+ 1.5v dl + 2.5V [1.5v dl 2.5V +4.75v dl +5.25V [+ 7.5v Ul +12V C 1
the most standard TTL ICs properly? 5.25V A ucttaal W 33l o yrasl 9
87
4|What is the propagation delay of the 5ns 8ns 10 ns 12 ns RLesS 2lelrd Rlustl Yudldet slad |5 vlalyd 8 UotAYU 10 AsAY 12 AsRAY C 1
standard TTL chip? 9 &7
5|What is the power dissipation of the standard {5 mW/gate 10 mW/gate 15 mW/gate 20 mW/gate RUeSS cleld Ruef war (slnaet [5 mwigate 10 mW/gate 15 mW/gate 20 mW/gate B 1
TTL chip? 9 87
6/What is the decimal conversion number for  [(1266)4, (1276)49 (1286)4q (1296)44 bﬂ?%éet 0{0_{% (2374) 8 Hle eallal (1266)4q (1276)4g (1286)4g (1296)4, B 2
the octal number (2374)g? 3ULAREL dlolR 9 B?
7|What is the digital signal value for the analog {0100 0101 0110 0111 AollcAlol Reld Hea 6V He (SlBect [0100 0101 0110 0111 B 2
signal value 6V? Rooict yeu 9 B2
8|What is the decimal number for the binary |4 5 6 7 (g0l loR 0101 Hie el oleiR g |4 5 6 7 B 2
number 01017 87
9|Which IC is used for (DEMUX) function in IC 7483 IC 7486 74 LS 138 74 LS 151 Sal 2loM ettt sl el wedl 7483 wedl 7486 74 AANYU 138 74 AAA™U 151 C 2
data transmission? (SlsHyAs) st W2 Gualol ad
8?
10|Which logic gate IC is marked as ‘X’ in the  [IC7404 IC7408 IC7486 IC7432 sl AlYS A2 WSAla Alseul AsA [l 7404 weAl 7408 el 7486 weAl 7432 D 2
circuit? A3 Rled scuml wa 82
B x
Lok LG
-
11[Which circuits requires the flip - flops for their |[Amplifier circuits ~ |[Oscillator circuits [Modulator circuits|Memory circuits  [s2l A[S2ual AHall BUA HI2 AnclslaR s [HURARR Useu  [HlsyA:R ulseu [l s D 2
operation? (AU - sclwell %32 82
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Which logic gate has the following truth table?
A B Y=A+B
0 0 1
1 0 0
0 1 0
1 1 0

OR

NOR

AND

NAND

sl 5 JeHl o[Aell AL sles B?

AR

all?

oS

oS

13

What is the use of flip - flop?

It stores energy

It stores voltage

It stores current

It stores binary
information

(sAU - sclluell Guallol § B2

A Gl UG 82 B

d cleey AU 52
®

A $22 AU 52 O

A ollAet3] 1Bl
{ole 52 B




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 8 : Electronic Circuit Simulator

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
What are the uses of simulation Design a circuit  |Design and test a |Replace Solder and RUYAA Ag2AVl GuoL g |52 [SAsat sA  [lse [Seet ual  [widlysd uesl UEs Ual B 2
softwares? circuit defective desolder 87 yilaal s WEA Slalles? uesl
components components
How the active and passive Clicking on the Clicking on the list |Clicking from the [Copy and paste ~ [RUJA2lst Ag2ARaAl Guallol Ues U WR (sAs  |uesloll A uR UMt Alse WR ALt ulseuidl A 2
components are added in the circuit  [component group |of components  |similar circuit from similar circuit|53lal AFzui Al U A [s:clq (5As s2cllq] (5As s2cllq] SI Aol W2 53
using simulation software? a2sl 3cl a GRRaudl wa 82
Which space is used to design circuit |Circuit work space |File operation Components Components é}oﬂ %ﬂgeaecﬂ Aot sl Alse as WA SLOA WUt $1Ulotoe 28U AU [s1Ulolod YU A A 2
in schematic editor of the Tina space type space groups space dulesHi ulSe Bxniet sal 12 A
software? 585 Aol GUAL ULl B?
Which is electronic simulation AutoCAD MS Office Macspice Photoshop BAsglAs 1At HsAR 53] [AU2lsS ENRYENEVIEN (EXY] PERGEY slelally C 2
software? 87
How the performance of the amplifier [Using multimeter |Using measuring [Using testand  [Using virtual RuzjAelet As2ARell Guallal HeelHleRal HlUol Altolletl e ol HlUst ARJAUA D 2
designed using the simulation equipments measuring instrumentation  [s3lal RARAA Ancllglareg Gualol s3lat Gualol s3lat GusWlell GUAL |SorgNoe 2ot
software is tested? equipments testing yedlat 3l A 2 A 827 53l 222lolell UL
3ol
Which software is used to simulate Auto cad Multi sim MS office Photo shop B8Asgls AlseUo] wUaisWQ sall [l 55 He2l @A A HAY WS slelallu B 3
electronic circuits? HER sl AlgARell GUAloL Ul
82
How the circuit schematic drawn using [Using multimeter  [Using analysis Using virtual Using external  [RIA2t A($2ARl UL Heeldleeall ol Aofoll |2 ollel WRARsUal | B 3
the simulation software is tested? menu oscilloscope oscilloscope g3l 3cll Sl wEe HARs Gualol s3lat Gualol s3lat WRARS UAA Gualol s3lat

ERAHL A B2

Gualal s3la




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 9 : Counters and Shift Registers

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans [Level
1|What is the type of counter circuit? Decade counter  |Ripple counter Ring counter Up/down counter [51Ge2R u(s2oll USIR 9 87 (555 51Go2R Rud s1Ge2? (9L 81Ge2R WW/SLBet 51Go2R A 2
]
2|What is the maximum possible 1" on o+l 3N As elasl 516U ($AU-5ATRGAL 1" on on+l 3" B 2
number of flip-flops in a decade HETH ASA AU 9| 8?
counter?
3|What is the purpose of using Attemnator Comparator Up/down counter {Modulator IC74LS190 ol GUAIL sclloll &g 9 B?[ALweR FRREEE AUWSIBot 5162 [HIsyARR C 2
IC74LS1907?
4|Which IC is used for the function of 4 [IC 7404 IC 7447 IC 7493 IC 7495 4 olle (g2 RA%eRell sl Hie 58 wsdl 7404 wsdl 7447 wsdl 7493 wsdl 7495 D 2
bit shift register? WSl GuUdlol Ul B?
5|What is the type of counter circuit? Ring counter 4 bit ripple counter [Up/down counter |Decade counter (8162 u(s2oll USIR 9 B7? oL 51Ge2R 4 olle Rud s1GoeR [HWSIBA 518022  |(S5S 51Ge2R B 2
WO:TK, QzTKz Q1TK1 QnTKa i
CLR g
6|What is the information stored in Analog values Binary values Decimal values  |Alphanumeric  [[S(®ect AFRAHL 00Ul Hledl 9 8?7 [l el ootz yeul SRHA yell WIEslYRRs Yl | B 2

digital registers?

values




Name of the Trade : Electronic Mechanic - 2nd Semester - Module 10 : Op-Amp and Timer 555 Applications

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
What is the maximum power Below 500 mW Exactly 300 Mw  [Around 600 mW [Above 800 mW  [555 aefll Hie HedH WeaR 500 mW ol GRIWR 300 Mw  [12R 600 MW  [800 mW GUR C 1
dissipation for a 555 IC? (3latet 9 B2
What is the meaning of slew rate Rate of change of [Rate of change of [Rate of change [Rate of change  [3URAAA ANAlglARM GecAMA [Bo1ye cleexall  [2uB2Ye tolye glsaadlotl [uBaye B 1
referred to in operational amplifiers?  |input voltage output voltage of input of output A Reall ud 9 8?2 %2520l €2 Al %2510l €2 slsclo{lotl

frequency frequency %50l €3 %8R0l €3
What is the limitation of integrated Increased Greater flexibility |Large value Drains more UslAd ulsguoll Halel g 82 aacl e saellolldlel [Hlel yeu dy yalel 36et C 1
circuits? reliability capacitors, current @Qaaeflaict ERIBERS 52 8

resistors cannot y(QAUS setiae

be fabricated 53 astcl otell
Which mode is used in differential Common base Common emitter [Common Common - mode [Slgo{laAc AclglaRul sl Hlsall [slHet 6l sldot A2 sliol sAS2R sldot 1S D 2
amplifier? collector operation Guallol A 82 SNUTELIE
Which is the major factor to determine |Degree of Number of bits Speed and Proportional to  |A/ D $ecleRail dRQlettil YELlotal AsASoll (Sofl  [Guanlol [wleuall  [3sU el ullaudl [elluatl aoset C 2
the quality performance of A/D accuracy used linearity the binary weight |[tiRd s2cll Hige] Yuat URwA AUl YHIRIRUR
converter? 53 87
What is the name of amplifier circuit? | Class a pushpull |Single supply Single supply Cascaded AR Ulsed] ot 9 82 sl AW Yaya (R e R A 5155 213 C 2

amplifier inverting amplifier |non-inverting transistor ArcflglaR G CIER]T ollol-8etct 3oL Al slar

amplifier amplifier Al gl ArcllglaR
What is the expansion of PRF related {Power regulated  [Pulse repetition  [Power related  [Pulse probability |glsclodllell deildct iR go] YlaR RRYASS (UG Yollddet  [ulaR RlAes yct ylaolldlel B 2
to frequency? frequency frequency frequency frequency (AxcRuL 9 B2 slsclol slsclonll glsclol glsclol
What is the name of the ratio of ON-  |Control voltage Pulse repetition  |Duty cycle Threshold AUlA-2LBH UL ARQltRef ol [53lA clee ued UlElet  [syel aasa S s1UR2R C 2
time pulse to the OFF-time pulse of comparator HEBl QAo ullg-elesH ucHl |

multivibrator?

87




9|What is the function of pin number 4 [Set Reset Discharge Threshold AUBAL 555 ofl ot olol? 4] sl A2 53U g3l Az s3A (S’ gales

of the IC 5557 9 ®?

10{Which is the output pin number IC Pin number 6 Pin number 5 Pin number 4 Pin number 3 AU 555 2l8FHR uBaye et ot ook 6 Mot ololR 5 ot oleR 4 Mot ololR 3
555 timer? oleR sAL B?

11|What is the function of pin number 2 [+Vcc Trigger Ground Reset wBAL 555 aleHR Ulseql et +Vee (2orR UGS e
of IC 555 timer circuit? dloR 2 o] sl 9 B?

12|What is the method used in the Op-  |Single ended input |Single ended Double ended  |Double ended BU-BRYHL AURLAl ugld 9 82 [RA Aeds ot Aess sold WadS Rl Aeds
Amps? with single ended |input with two input with double |input with single AUB2Ye U golye A Rold  [auGeye U wIGeye U

output single ended ended output ended output Rbid ABS Aods UBaYe  [SUA UedS Bolye[sud AedS Beolye
output Bolye AUA
13|Which process the ICS are made? Grown junction Point contact By adding Micro photo - USARAU 58 Ulsal sradl U [ollot 52t Ylsul [Weee AUS ollel ol sl sl -
process junction process |extrinsic lithographic 8? %5let Y[zl GR3la (@a0oulss ulsau
materials process

14|What is the name of IC used in the ~ [IC324 IC555 IC723 IC741 AsA RlAd el WAlts w324 w1l 555 IC723 w5l 741

astable multivibrator marked ‘X'? H@ollaeul susHle] ot g B2
N

15|What is the use of schmitt trigger Voltage regulator | AC to DC Signal processor |Electronic e (2oR ulseall Guatlol 9 8?  [dleew AR AL ol sl Roeid RARMR  [sasgllals
circuit? converter thermostant $oclé RN EE L]

16{What is the function of astable Acting as Serving as an Serving as Serving as 2LSHR S| 555 Ul ARuA loetsYUA s | ARARR dily | cleew [deuas Aol $RallR
multivibrator in timer IC 5557 transducers oscillator voltage divider  |comparator HElagqeq st g B2 sl Al audl A5 Aal AU B |3 Aa uucl

17|Which circuit uses the F to V Schmitt trigger Digital frequency [Wein bridge Up/down counter [s¢5 lse Ag &l dl soce? RAe (2o ulse | [Slwec slsacll [Aget (olos GuR /4lA
converter section? circuit meter circuit oscillator circuit |circuit As2Aotell GUAOL 52 B? le: uSe WRAR uEz  [s1GoeR ulse

18{How many Op-Amps are fabricated  [Two Op-Amps Three Op-Amps  |Four Op-Amps | Five Op-Amps  [AAAH 324 sl Usall vieR AN VENFEEY] AQL AWU-ARRY [AUR WU-ARR | Wl A U-2
inside the LM 324 IC pack? $ec{l AUV slotlatdl ©?

19|How many operational amplifiers are | One Op-Amp Two Op-Amps Three Op-Amps [Four Op-Amps  [LM741 IC Hl %2l 3 UR2ald AUs WU-Amp Al AU} AQL AU-BIRYL [UR A U-BY
fabricated in the LM741 IC? Anlgt2A olollcaul B?

20(What is the output produced in the Analog output Triangular wave  [Binary output Sinewave output [ASI Alseul Geuz UAc ULl B Ye [glrAdEA ool wBeye [Uatda uBaye
ADC circuit? output wGeye 9 B? wIBeye

21|What is successive approximation Method of IC Method of D/A C Method of A/ID [Method of SMT  [sallcl AUlalNtel (HAAAUR) g [ slodsast  [sl /A JuicRall 2 /sl SMT ol usld
(SAR)? fabrication conversion conversion 87 ugld ugld 3uldRue(l Al

1@




22|Which is the fastest A/D convertion ~ [Low speed data  |Absolute Medium to high [High to medium [l 235Ul A / sl 3uicRal dsallst [al 2Uls Sal Ayel 3wldRel (Ml ol Gl Hean

techniques? acquisition applies |conversion speed data speed data 58 87 AEARAA A [AsUES als 3al olfd 3at Aulest
accuracy acquisition acquisition ul ABEARAA A [cld] U B
applies applies ad B

23|What is characteristics of Low input High input High output Infinity output Borg oz 2ol ARAlgaRel A\ Botye G2 Botye G ulBaye Uoicl WGy
instrumentation amplifier? impedance impedance impedance impedance cAlelRs i 9 B2 grdlsu SRRUIEE grlsu grdlsu

24|How the pass band gain of the circuit {In volts In hertz In decibels In ampere Als2all WA dos et Sl 2 adlee Ul &SHL SRl a2 Ul
is expressed? s UlA B?

25|What is the important feature of Increase the Low gain accuracy |High gain Reduce the BorgHoelol AncllglaRell wlGeye dleex [l ullvd G JYel NCEYERENMERE
instrumentation amplifier? output voltage accuracy output off set Hecctyel YAl 9 B2 Al AlsAULES AA2dl Al delsl

voltage

26|Which is the major factor determines |Conversion cycle |Measuring Resolutions Depends on data |A /D $ecleRail dJQleltil YELlotal SoclBol ARASA  [HIUet URAHI2R  [Ralejalet Sl AU UR
the quality performance of A/D parameter latch sl Yul URAAA [AulRd 52 82 VLR AW D
converter?

27|Which is the major factor determines |Depends on data |Measuring Sampling rate  [Conversion cycle |A/D $ocleRatl dJRleltil YElotal Sl AU UR Hiuot URLH[RR  [olyoll ER 3ULARRL US
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